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13 12: (1249)=x : 280| 22 21xr=336, x=16
9:(9+12)=y:350]2 & 21y=315, y=15
L xrty=31

14 133} Zo] A AS A1}a CDo|| B3 A~
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1:(14+2)=EG: 6, 3EG=6, EG=2cm
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2 (1) AD/ECel=& s,BAD=2AEC (59]7}),
+DAC=-ACE (97}), & ~AEC=2ACE°|2&
AACE: AE=ACSl o]SHAZFsolch. e o
" AE=ACQ o]5AZd

2 ABCE®|A AD/ECo|2& BA : AE=BD : DCo||A]
7:AC=3:DC, 7:4=3:DC

14:2=2:30|02 22=12, =6
2:(243)=y: 100|212 5y=20, y=4
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. FC=DE=3cm
%Cm olaf AE : AC=DE : BCo|2&
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AD/MN/BC e ) - rty=23
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A< Eet shd AABDOA 4 A l
AM=MB, AD/MEo°|o& M N - AE= 5;’;3 AB=2 x8=5(cm)
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...... 3 15
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DE _AD_AE
A=S 1 2=9: = — 2 deeees 7 @ AADE AABC A =2 )o g ==
mAnype)ER 6:2=9 1y, 6y=18, y=3 e » ( 2)el BC AR AC
Z r=12, y=30|H& r—y=12—3=9 - (5]
-9 8 AABFo|4 AD=DB, AE=EFo|2=&
—r PR DE /BF, DE~ L BF
@ 22| Zk2 HIZH At 2 ' 2
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=, E:%ﬁzéx 16=8(cm)
oltf AAMF=ACME (ASA §%)o]2g2 CE=AF=8cm
10 DE=

C x7=35(cm)
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#|e] Z1o])=DE+EF +FD
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. (ADEF9 &
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i

EH=FG=1 1 Bp=

w2t OEFGHS Ed¢] dol=
EF+FG+GH+HE=5+4-+5+4=18(cm)

=4(cm)

12 M—N:%(A_D—FB_C):%X (6-+10)=8(cm)
13 8:x=10:250]|2&
102=200, =20
= 4x4+48%x2_ 16
14 EF—72_|_4 =3 (cm)
15 ADBCo||A] GF /BCo|E&
2:12=3: (3+5). 82=36. xZ%
AABDOA EG/ADo|2=2 EG : AD=BG : BD=CF : CD
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. 32 .9
[CH= 20]]
EF=2Y136_ 4 Yo|um 5,1 36=68, 5y=32
3+5 9 °1= :
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16 y=
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17 AABE» ACDE (AA &&)0|22
AE:CE=AB:CD=6:9=2:3 (D)
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12:8=6:CD, 12CD=48, CD=4 cm
E, AE7} 2A9] 9]7k¢] o] 5 o|n
AB : AC=BE : CEl|A
12:8=(6+DE) : (DE—4), 48+8DE=12DE—48
—4DE=—96, DE=24 cm
24 cm
A7 I
@ CD2| Z0|Z Hi27 A5i%ct, 3
@ DEQ| Z0|Z H2H 5L, 3

20 AD/BCo¢]a2 AM=MB, DN=NCo|o&
AD/MN/BC
AABDo|A AM=MB, AD/ME¢|2&

ME—LAap—Llys_5
ME= 5 AD= 5 X5=7% (cm)

o uf| ﬁ:ng cmo]2& MF=2x %25(cm)

%, AABCYIA AM=MB, MF /BCo|=&
BC=2MF=2x5=10(cm)
. 10cm
ME7 =
@ AD/MN /BCYE Hl=2 A
® MEQ| Z0|Z HI2A &tk 2
© MF2| Z0|Z Hj27 75iict, 1
@ BC2| Z0|= 27 7slict, 2

FSIACL. 1

0X
m
aa
ol
_=
[T

11



21 W) kvl /mO|EE 10 :

6

@ k/m/no)BE 10 :4=(243) .y, 10y=20, y=2
2

(3) x=6, y=20|E& r4+y=6+2=8

g

xE7 =

@ x2| Zt= HiEH T 2

@ y2| 2= HIZA| FIC. 2

© r+y2| S HIEEA FSINAC, 1

26~29p

AIXd @
2L

1 AD: AB=DE : BCo|2=2
10: (10+BD)=8: 12, 80+8BD=120
8BD=40, BD=5cm

2 AD: AB=AE: AColz&

a.b=3:4, 3b=4a, bZ%a

3 AABC9|4 BC/DEo|n&
AE:EC=AD:DB=6:3=2:1
AADCOHH D_C//ﬁomi AF :FD=AE:EC=2:1

4@5:83&%25 @4:(4+3)¢3:1—39
®3:(34+2)£3:6 @2:443:9
©3:(3+2)= 152 4

utebq BC/DESl 22 o]t}

5 BD:CD=AB:AC=8:12=2:30|0&

CD= 3ﬁ_

513 X10=6(cm)

6 BD:CD=AB: AC=12:9=4:30|02
AABD : AADC=4:3,24: AADC=4:3
4AADC=72, AADC=18 cm’

12 - 287| 7|20 52 48

7 AB: AC=BD:CDol2&

12: AC=(8+12) : 12, 20AC=144, E——cm

8 FD/CEo|=2 AD : DE=AF : FC=6:4=3:2
EF/BColnZ AE : EB=AF : FC=6:4=3:2
= DE=2k=2 oW AD=3%,

EB=2AE=2(AD+DE)=1)ko|n2

@:ﬁ:ﬁz?uk:zk:l—szwmlo

9 AAEG=ACEF (ASA 3%)oln& AG=CF
ADBFY4 AG/BF, DA=ABo|n& DG=GF
= BF=2AG
u}2}A] BC=BF+FCoJ A

10=2AG+AG. 3AG=10, A_G:% cm

- BF=2AG= 2><130 2—30<cm)

10 AABDe|A AP=PD, BM=MDo|= &

PM/ AB, PM=3AB

. «PMD=2ABD=31" (-5%1%})

ABCDelA BQ=QC, BM=MDo|= 2
MQ/DC, MQ=-4DC

. «BMQ=2BDC=83" (&%1%)

%, «DMQ=180"—83"=97°0| =&
ZPMQ=31"+97"=128°

oJtj AB=DColn PM=MQ, %

oo

APMQ= o542+

AMPQ:%X (180°—128°) =26°

11 233} go] AC, BDE 27} 109 A/,Aﬁm\
AABDS} ABCDA EH=FG=-1BD
AABCS AACDOA EF=HG=- AC y / )
ojuf JABCDE: SHAcH|Bo| 2 M
AC=BD

Z, EF=FG=GH=HE°|=& JEFGH= ntZxolt},

EG=—1(AD+BC) =4 x (4+6)=5(cm)°| 2.2

DEFGH:%XE xHF = —><5><6 15(cm?)

12 5:%(18—1@), 10=18—AD, AD=8 cm



13 3:6=x 80|92 & 6xr=24, x=4
(346) : 6=y : 7TO)|E& 6y=63, y==

_7x2+12x3
14 EF="0 10

=10(cm)
15 AABCe|A EQ/BCel=& AE : AB=EQ : BC
2:(241)=EQ:9, 3EQ=18, EQ=6 cm
AABDo|A AD/EPe|2& AB: EB=AD : EP
(241) :1=6: EP, 3EP=6, EP=2cm
.. PQ=EQ—EP=4(cm)

16 AABDeJA EO/ADo|mg
10 (1046)=EO : 12, 16E0=120, EO=-"cm
oluf AABCo4l EO/BCol2&

6: (6+10)=12—5 -BC. 6BC=120, BC=20 cm

+=_ 6x10_ 15
17 EF=¢70=" (em)

AEBCI%X 16 X%:So(cmz)

18 ED/BCol2& AD : AB=DE : BC

4:y=6:(6+12), 6y=72, y=12 e (1)
AB/FGol2& CB:CG=AB:FG

(6412) :12=12: x, 18x=144, x=8  «++e=: )
Sox+y=8+12=20 e [3)

@ y2| 2= HEZA FsIC. 2
@ x| S HIZA| FSIUCE 2
© x+yo| S HIEH FEIAC 1

19 AAGCo|A AE=EG, AF=FCo|n& GC=2EF

ABDEYA BC=CD, BG=GE°|n& ED=2GC=4EF

...... o
ol ED=EF+DFo|2&
4EF=EF+9, 3EF=9, EF=3cm - ()
So3cm
7= ‘ B
@ EDQ| Z0|E EFE AtZ35104 HIZA| LIEHLAICE 4
@ EFQ| Z0|Z dt27| 75i%ict 2

100 1005 5}

20 ADEF9|4 DE=2IH, EF=2GI, FD=2HGo|=&
(ADEF¢] £92] Zo])=2x (AGHIY] 2] Zo])
=2x10=20(cm)
T, AABCYA AB=2FE, BC=2DF, CA=2EDo¢|o&
(AABCY| &89 Zo])=2x (ADEF¢| &89 o)

=2x20=40(cm) e (2]
.~ 40 cm
eshIES I
@ ADEF2| S2{2| Z0|E HI2A| F5ILCh 3
@ AABCE| =2{|2| ZOIE HIZ| FsiRACt. 3
21 AABCOA EG/BCol2&
3:(342)=x:10, 52=30, x=6 e (1)

y:5=2:(2+3), 5y=10, y=2 e e
SLx—y=6—2=4 e [3)
HE7 1= ‘ B
@ y2l %S HI=A| oLt 2
@ 22| S HIEA FsIAC 2
© x—y2| S HIEA| oIRALCE 1

-”
Zicr 2CF Fx ' 30p

AABDelA AE=EB, EF/BDo|2& AF=FD

= Tr_1lpp_1 o
%, EF= 5 BD= 5 x2=1(cm)

ol APDCex» APFE (AA G&)o|R &
PD:PF=DC:FE=5:1
utgb] AP : PD=(AF+FP) : PD=(5+1+1) :5=7:5

ok

HE R sie

13

p



34~36p

1 AABMz%AABCz% % 30=15(cm’)

. _ 3 3 e )

o ADBM—T_’_3 AABM= = X 15=9(cm?)

2 GC=2EG=2%5=10(cm)°|2& =10
@Z%E:%XGZ?)(cm)O]EE y=3

Soxty=13

3 4 G7h AABCe] #AF 0|2z
GD=FAD= x 18=6(cm)
E, 3 G'o] AGBCY| FAFAH|ER

@:%G_D:%X 6=4(cm)

4L AADFo|4 GE/DFo|2& AG : AD=GE : DF
2:3=GE:9, 3GE=18, GE=6 cm
olt A G7} AABCY] #AFAo|ng
BG=2GE=2x6=12(cm)

5 AC=2AD=10cm

= FF :10=2: 30|28 3EF =20, ﬁz% cm
6 AABC=3AGBC=3x8=24(cm’)

7 OADGF=AADG + AAGF:%AABC—P%AABC

:%AABC:%X 54=18(cm?)
8 AGBC:%AABC:%X 72=24(cm’)

L (A Rre) o)) =2 AGBC=2 x 24=16(cm’)

9 BM=MC, AO=0Co|=& % P= AABCY #AFA4 ot}

. BO=3PO=3x3=9(cm)
olf] JABCD: HajAHa ooz
BD=2B0O=2x9=18(cm)

14 - 287 7| %A B2 48

L

Kol
= 717t AABC, AACD®| £A4%

10 233} go] ACE 3ta ACS BD9J A
- N
13- 0 sl OA=0Ce|8n2 = 3 N
A

NCELEEBRN)

:%AABCJr%AACD:%D ABCD

:%x 48=16(cm?)

11 AAMNw AABC (AA §2)olx
gHl= AM : AB=1: 20|28
AAMN : AABC=1%:2°=1: 49| 4]
AAMN :36=1:4, 4AAMN=36, AAMN=9 cm’

12 Al Qo] G3H|7F1:2: 30|22 Holo] vl
1P:2°:8=1:4:9
opeba] Ak Cof wolo W= 1:(9—4)=1:5

13 % TAR9] GgHl= 30 1 40=3: 40|22 o] 9] =
371 4’=9:16
A 59| 4ol7F 40 cmQl H AL 71HAS role) shH
9:16=9000 : x, 9x=144000, £=16000
uteba] Z]5o] 40 cmQl 7 2HE] 7142 160000t}

14

r.45=4:99|2 & 9xr=180, xr=20
121 y=4: 90|22 4y=108, y=27
Soxty=47

15 &= A44715 A, B @5t 4:6=2: 30|05 F0]9] vl=
2°:3°=8:27
ojmj 4Fz}7]5 Ag] Hul= <%>< 3x 4) X 6=36(cm’)o| 22
Bo| 21E V cm’e} sH4A
361 V=8:27, 8V =972, V=121.5
wjebs 442175 Bel ol 1215 em'olt},

16 29| olg} 15e] &o]o] |7} 3 40]n
2] nuje} 750 Huje] i 37 4'=27 : 64
20| B2 V em'e} 5

V 1320=27: 64, 64V =8640, V=135
weba] o] Rl 135 cm'ol),



17 AABC» AADE (AA
AB: AD=BC : DE%JA|
2.5:(25+6.5)=15:DE, 25DE=13.5,

whepA] 9] 0] 5.4 mot,

e)olu®

DE=54m

18 9 km=900000 cmo| =& | Eof| 4] F
£ xrcmet 5
x - 900000=1 : 30000, 30000=900000, x=230
uteba] A moflA F A5 A, B Abo] 9] A2l= 30 cmo|t,

A A, B ARel9] 7E]

37-39p

1 AADCZ%AABCZ%X 42=21(cm?)

AAEC**AADC—

515 x21=6(cm’)

2 BG=2GE=2x3=6(cm)°|2Z =6
E:%A_C:%x 10=5(cm)o|o& y=5

L xty=11

3 A G'o] AGBCY #Al5Ao|nR
GD=3G'D=3x3=9(cm)
A G7F AABCE] HAISAlol B2
AD=3GD=3%x9=27(cm)
. AG=AD—-GD=24(cm)

4L A G7F AABCY BAFAlo| B2
AD——AG— X10=15(cm)
oltf AADCOA AE:E, DM=MCol|na
W:%A_D:%x 15=7.5(cm)
5 BM=MC=9cm
BC/DE°|2Z DG : BM=AG : AM=2:3
Z DG :9=2:30]22 3DG=18, DG=6 cm

6 AABC=6 AGMC=6x%6=36(cm?)

7 1% ol BGE 1od A
ODBEG=AGDB+ AGBE D
_1 1
=% AABCH+ 6 AABC B = c

Z%AABCZ%X 48=16(cm’)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1002 1003 45

8 AGBC=—x (823 29| yol) =5 x 10=15(cm’)

. AABC=3AGBC=3x15=45(cm”)

9 23} o] ACE =1 AC, BD9
P= AABCY A=

H Q= AACDY FAZAo| 22 QD=20Q
. BD=BP+PO+0Q+QD=2P0+P0O+0Q+20Q
=3P0+30Q=3(PO+0Q)=3PQ

=3x8=24(cm)

10 233} 7] ACE 3t AC, BDY @

)5

& Ozt 3 OA=0Ce| =2 & 4 P, Aﬁ
Qe 747 AABC, AACDS #AF4  BE+———/c
o=t

AAPQ— AABCH¢ LaacD= —DABCD

:%X60:10(cmz)

11 AADEx»AABC (AA &
geul= AD: AB=1: 20|23
AADE : AABC=1%: 2°=1: 494
OODBCE : AABC=(4—1) : 4, JDBCE : 28=3: 4
40DBCE=84, (1DBCE=21 cm’

)0l

12 Al 9]
1°:2°:3°=1:4:9
ukeba] BeFCOJ wolo] vl (4—1)

RN SEPREOEE R RERUIS

:(9—4)=3:5

13 & 9729
2°:3°=4:9
A =22] Z10|7} 30 cm©] WA} 1AL o2t s
4:9=10000 : x, 4x=90000, r=22500
wheba] 2] 22] Zo]7} 30 cml 3#}e] 744 L 22500 0] Tk,

S H]= 20 1 30=2 : 30| L& Yo] ] H]:=

14 7 A% A, B Zyol9] v7}32:72=4:9=2": 3o|O
SgHlE 2 30]t,
8 Ao Wlo] ¥Hx 59| ol r cme} 5lw

y.6=2:3, 3r=12, r=4
AW A9| W o] ukx 2] Aol 4 cmo]t},

Hg g - 15



15 + *P7P7I%A BY &3
13°=8:27

ou AZE/)E Bo] Hus <%x 12><9>><10=540(cm3)0]E
2 41% AC) RaIE V e} o

V 1 540=8 : 27, 27V =4320, V=160
weba AHZE7) % Aol Hul= 160 cm’o]t

16 29 =0l 1539 £0]9] B|7F 11 30|82
Eof fujel aRo] Hujo] vz 171 3=1:27
=9 95 V cm’2} 5hd

V :135=1:27, 27V =135, V=5
wheba] E9] £u]i= 5 cm’oltt,

17 AABC» AABC (AA B&)ojmg
AB : AB’=BC : B'C/9]lA]
1.8:(1.8+3.6)=1.7:BC, 1.8B'C'=9.18, BC'=5.1m
wheba] §o] $£0]= 5.1 mo]tt,

2 1
500000 250000

wba] Kol A ) A7) 10 cmel F A7 Alo] o] AR A=
10 X 250000=2500000(cm ) =25(km)

18 5 km=500000 cmo]| 22 (£3])=

1 w:%B_C:%X 18=6(cm)

2  ANBC=ANBP+APBC=2"% 2+4 JABCD

:%X60:15(0m2)

16 - 287] 7|12 B2 48t

aEty Ex ﬁ 42~43p
(1) AABCOIA AD : GD=3: 10]2&
27 :GD=3:1, 3GD=27, GD=9cm - (1)
~ 9cm
2) AGBCOlA GD : GD=3: 10|22
9:G'D=3:1, 3GD=9, GD=3cm - [2)
3cm
M7= ‘ HH=
@ GD2| ZolZ si2H Fsiict, 3
@ G'D2| Z0|E ut=A T3t 3

...... o
wheba] HEZ 50 Zol7h 2 cmQl T g 23
o 100074E ¥+ 4= 9k e @
1000
=7 IE IE
© 2 2231 A2 x22lo| 2njo| b|S tl=A FAIACL 3
B S = U= 22 2239 Zof TS HiEA| HSIAC 3
4~bbp

1 8 Me ADS] Zdo|uz W:%x 18=9(cm)
A G= AABCO] BAZEAo|m g G—Dz%x 18=6(cm)

. MG=MD—GD=3(cm)

2 3 D& A7tz

3 ABCY 9oln=
C_D:iﬁzix 18=9(cm)

H G7F AABCY| FAFHo|l B2
@— LeD CD— x9=3(cm)

¥, A Gl AABG4 mAZEA ol B R

GG :gGngx 3:2(cm)

3 AABMo|4 DG /BMe¢|2& DG : BM=AG : AM=2:3
6:BM=2:3, 2BM=18, BM=9 cm
ol BC=2BM=2x9=18(cm)°]2& r=18
I, H G7F AABCE| A4l =2
GM=JAG=1x10=5(cm), % y=>5

L xty=23



4 B G7F AABCE FAGA | BE
AGDCZ—AABCZ—X24=4(cm2)

I, H Go] AGBCY EAFA0|l 22

/ _; _4 —ﬁ 2
AGG'C= 3 AGDC= 3 X 4= 3 (cm?®)

5 ABCDe|A BM=MC, CN=NDe°|=& BD/MN
ol 1Hy} Zo] gzt ACE 1o
H X P= AABCY A4l B2
PQ:MN=AP: AM=2 : 394
PQ:9=2:3, 3PQ=18
P_QZG cm

6 [JABCD=6AABP=6x8=48(cm’)

7 AADEx» AABC (AA §&)0]1
SoHl AD : AB=3:50|2&
AADE : AABC=3":5"=9: 259 A]
AADE : ODBCE=9: (25—9)
18 : JDBCE=9: 16
90 DBCE=288, (] DBCE=32 cm’
8 OABCDSF OABC'D'9] 8H|=DC: D'C'=3: 50|28
5}0194 H|E=3%:15°=9:25
%, OABCD @ (Mg 2829 gol)=9: (25—9)o|==&
DR BEY yol)=9:16
( A H2o) Yol)=48(cm’)

9 mAlo] Aoz} Z+zF OA, OB, OC¢l Al Y& gh-u]7}
1:2:30|88 Bujo) = 1°:2°:3'=1:8:27
wepA = Q8 Q, R #3919 Hj=

(8—1):(27—8)=7:19

10 &9 o]eF 239 ol v|7} 21 50|m2
Eof Hujol 720] Hujo] v]i= 271 5'=8:125
Eo| RulE V em’s} shd

V 1 250=8: 125, 125V =2000, V =16
wheha] E9] Fa]= 16 cm’o|ot,

11 63499} =o]& hcmet 51

60 : 49800=30 : /2, 60 X ;=230 X 49800, /1=24900

uf2ba] 6399 2] Eo]= 24900 cm, & 249 mo|t},

2 % A4 Aole] AA| 7122 z cmet ol
4 x=1:10000, x=40000

whebA] = A3 Apo]o] AA| 7|2]= 40000 cm, = 400 mO|Tt,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1002 1003 45

13 AADCo|A AE=EC, DF=FCo|n&
A—D:2ﬁ=2x3=6(cm) ...... (1)
olif H G7} AABC2| LA &Alo|mg2
AG=2AD=2x6=4(cm) e
T 4cm
A7 |=
@ ADS| Zo|Z HI=H 75t 2
@ AG2| Z0|Z HIZH Ak, 3

14 BD=DE=ECo|=&
AABE——AABC —X45 30(cm?) e o

H G= AABESQ BAFAl0lng 13}t 2o] EGE 1o

ODEFG= AGDE+ AGEF A
:%AABE—F%AABE
1 1
=—AABE=-x30
3 3 B=—p—x — ¢
— 10(cm2) ...... @
. 10 cm®
A7 IE
@ AABEQ| H0|E HIZA| F5tiCt, 2
@ JDEFG2| 50| HI=A| F3IRICt. 4

15 AODAS} AOBCofA]
<0AD=~20CB (%1Z}), zODA= ~20BC (917})
oJuZ AODA®AOBC (AA ®&) o o
ouf -2l DA : BC=6:8=3: 40|22

AODA : AOBC=3":4"=9:16  «eeeee e
=, AODA :32=9:160|2&

16A0ODA =288, AODA=18cm® (3]
18 cm’
A1 I
@ AODA®» AOBCYS HI27| MH5IACt 2
@ = Mzi3o| Holo| HIE HI2A| TSI 2
© AODAZQ| S0|= Hi2A| FaiCt, 2

16 2 2553 22 4759
HojojHl=4"1'=64:1 e (1)

S2HE=8:2=4:10]E2&

webs] A152] Zol7k 2emel T mepe] 474L Al 64742
_ /\ ]1:]. ...... @
. 64

U EE

@ 2 4TSt &2 Apa0| 2Olo| IS Hi2A TEIRCL | 3

@ BI5 4 9/t M2 A7aol A A4S Bi2A Pt 3

0X
m
aa
ol
_=
[T

17



9 A9 BY #ylo]9 Hl= 37 4°=9 1 160] 22
Be] 24 0]E z em’2t 5
126 : x=9: 16, 9x=2016, x=224
AS} B Hul9) vl 37 4°=27 : 640|182
Bo] ®95 y cm’e} 5t
81 :y=27: 64, 27y=5184, y=192
wteba] Be] Zyolet Huli= 747} 224 cm?, 192 em’o|ot,

1 ® AF=FB. AE=ECo| 4wt AF=AESIA|%= oF 2 gic}.

2 & G'o] AGBCY FAISAlo|n R
GD=3G'D=3x3=9(cm)

E A G7F AABCE #AIFA ol
AG=2GD=2x9=18(cm)

10 A5 ¥ #ol& hemet s5Hd

3 H G7F AABCY HAFAo|lE2 %x (mx4*)x h=32r, h=6

. AO’=6—3=3(cm)

Zepdl HET A4S B HJH7E 31 6=1: 20|27 Ru]d]
J=1°:2°=1:8

%, Y] Rujo} A5 O] Hulo] vl= (8—1) :18=7:8

o]m g o] M %x 327=287(cm’)

m:%@:%x 16=8(cm), & y=38

ot DC=8-+16=24(cm)°| 1,
AADCo|A AE=EC, FE/DCo|=& AF=FD

=g

= ﬁz%ﬁz%x 24=12(cm)o| B2 =12

L x+y=20

L _Q 11 & BE9] &ou|7l 1: 20|02 Huo] v|=1%:2°=1:8
(cm) =
3 3

et B85S 7HS A9 b AEls AR 30 x8=240(&)

4L GG =

5 AAFC=—1AABC=1x36=18(cm’)
12 AA'CB' o AACB (AA 5-)o|Bs 520 UH|Z 2 cmet
ald A'B’: AB=B'C’ : BCoJ|A]
7:2=311500, 32=10500, £=3500
wheba] 422] HYH]E= 3500 cm, & 35mo]th,

AAFCo)H GE/FCol22 AE : AC=AG : AF=2:3
. AAFE:%AAFC:%X 18=12(cm?)

6 193 o] AC, BDO| 8L O £° ] ‘
H A P, Qe 44 AABC, AACD \ﬁ 3 4 B ACO 2do|nz
o] FAFAo|BZ Mmc . .
— 1= =— 1] == AABE=-AABC=+-X 36=18(cm’) e (1]
PO=-BO0, 0Q=+50D
A D= ABO] #¥olng
156+ LopL
. PQ=PO+0Q=~+BO++0D=~(BO+0D
Q= B3 30D=3( ) ADBE:—AABEZ%X 18=9(cm’) e (2]
_lan_ 1 _ -
=3 BD=75x12=d(cm) A G AABCY RAZM0|nE BG: GE=2: 1
ADGE—ﬁADBE—%X 9:3(Cm2) ...... (3)
7 AADE» AAFGo AABC (AA §&)o|B& ‘
o ATy AT - AB_1 - - 1= i
FEIE AD: AR AD 1'2'32 o @ AABES| H0I2 vl Tagict 2
=, AADE : AAFG: AABC=1:2":3"=1:4:99A @ ADBESQ] 5012 Hl2A| 75i%Ct 2
AABC : [0DFGE : [JFBCG=9: (4—1) : (9—4) © ADGES] So[= B2 Z3eict )
=9:3:5
14 1Y7} o] ACE X AC9BDY . A D
8 4 9o] grenlzk1:2:30]uR ool 23t ACSE BD9 it
AL 0Z oW 4P, Q=7

HolojvlE=1":2°:8=1:4:9

7P AR o] WolE acm’et 5HH 7ha 2 9] Hols
9a cm™| L2 9¢=367, a=4r
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